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f:'�ن ا����� ��D)� أي أن ? vµ=  �(�D� n�2ن آ�'.Amax max.f xµ= ɺ   

 �Z,8ا� 
��2t  ة ا��9ة

#� و���.��� �"*�# ����f:'�ن ا�
�

  n�2آ �#
  . A.'�ن #�*

 G�,�ج ــ :*8$6 ?'6 ا��mE  

 �#
�.'�ك #�*Uة ��ة ا

#� :'�ن ?�� ) Pb#2t  ) G�,�ن ا���'$Aو S[,�: �$'$��'$ن ا�(��� ا��;�

mE  E� رة�-� E# أ�9$�+�ء �-.�  )palier ( 79�: �$'$��'$ا�� ���)ة ا��9ة أي أن ا�
  . و�*
 :�داد ?

 �.��W �$% ك�'.�Uأن ��ى ا E� M:�� 6'"وه2ا ا� .  
 ��
��6   

1  ����X�8� �$ــ :*-$� ا�(��� ا�,�آ } 
�a ا�I8D ، ا����Xا� {  

1( ) ( )C C CE E S E R= +  

  �#
)��� أن آ.�8 ا����
 #=��8 �;ن ���.� ا�,�آ$� #�* ) 0CE R و���.��� �;ن ا�(��� ا�,�آ$�  =

��X�8� :21�� ه� 

2CE mx= ɺ  

2  ����X�8� ــ :*-$� ���� ا���� :  

P pp peE E E= �I ا��*($�ت أن  �ppE,$3 أن  +� ��` �#
�a وه� #�*X8� �$��9bا���� ا� ����

0ppE =  E# ��( ى ا�2ي�.���آ� (  ��G ا��G  0أ�9$� و���.��� �;نz ���� ا����  peEو )  =

21: ا����� �8���
 وه� 

2peE kx Cte= +  6b�:x  �Z,8ا� 
�� 
�0'�ن أن  tإ���� ا���� 0∆ =ℓ  ن`

  . ا����
 أ��9 

�I ا�,��� ا���+*$� أن �0peE =  
��0x 0Cteأي أن  = 21و���.��� �;ن  =

2pE kx=  

 ����X�8� �$'$��'$ا�(��� ا�� M.�.�� :  

2 21 1

2 2mE mx kx= +ɺ  

  : ــ ا��*�د�� ا�.]��8$� �,�آ� ا��.2�2ب ا���ن  3

�.'�آ�ت #=��8 �;ن ا�(��� ا��$'$��$'$� :�,]S أي أن U���0 أن اmdE

dt
  : و���.��� �;ن  =

0 0 ( 0)

0

  kxx mxx kx mx x

k
x x

m

+ = ⇒ + = ≠

+ =

ɺ ɺɺɺ ɺɺ ɺ

ɺɺ
  



 

II  ا�.�ازن  1ــ 
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∆

∆

∆
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��� أن ا��*�د�� ا�.]��Q �$8($� و#E ا�  :  

( )
0

2
cosmx t x t

T

π ϕ
 

= + 
 

  

�0,$3 أن  1,2T s=  22.10وmx m−=   

 
(
,:ϕ  �Z,8ا� 
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1  I$�9ــ ا��*�د�� ا�.]��8$� �,�آ� ا� :  
��]h ا�(�)�9 ا��.-*� �� ا�.��ر)E ا����6R�.� �9 إ�G ا��*�د�� ا�.]��8$� ا�.��$�   :  
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∆
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